Z:\Clients\Plastpro, Inc PERMANENT\B - TDN\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS DOORS
DOUBLES
w/ or w/o SIDELITES

INSWING / OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Sidelite Panel Details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame anchoring & Hardware details

Bill of Materials & Components

NN A |WIN|—

148.5" MAX. OVERALL FRAME WIDTH

I«-— 74" MAX. FRAME WIDTH —~|—— FRAME WIDTH |

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

37.25" MAX.

98" OVERALL FRAME HEIGHT
(INSWING)
97.125" OVERALL FRAME HEIGHT

(OUTSWING)

,//// V4 ¥ ///

/ /

/ /
J V4 Vi
! /

V4

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC.
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

BY

NOJ DATE

REVISIONS

DATE: 8/18/22

SCALE:  N.T.S.

XX 74.0" x 98.0"

oxxo 1285 xss0 | T49:0 | -50.0

+45.0 | -45.0

DWG. BY: LFS

CHK. BY: RW

SEE SHEET 8 FOR ASTRAGAL DESIGN PRESSURE LIMITATIONS

DRAWING NO.:
TX—5284

SHEET 1 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

3.7

0.4" ——

)
Y]
/4

- 175" ——

LATCH STILE (LVL)

\

CAP (PVC)

——! |~ 04"
" EXTERIOR
oy T M ) |
XK 2 S
J n |
\
TILE (LVL INTERIOR
CAP (PVC) STILE (LVL) -
/1" HORIZONTAL CROSS SECTION
\2/
35.75" MAX. PANEL
WIDTH
oy 21LI3'MAX.
D.L.O. WIDTH
q
/
Vi
i/
o
ﬂ!
'g = m = v
O 0]
s 2\2/
d )
O
Z ~ .
£ a X 3
> >
< < .
: 3 o1
X =
S 1\@ T
\ SEE DOOR LOCK
b HARDWARE TABLE
/ ™
Y
/ #7-19 X 2" PPH SMS
(22 PLCS.)
2 t\ #8 X 3"FH WS @ EACH CORNER
5\0 = THROUGH STILE INTO RAIL (4 TOTAL )
0 =
@iLASTPRO DOOR PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: POLYURETHANE

KNOB:  SERIES (400)
KWIKSET | pEADBOLT:  SERIES (660)
KNOB:  SIGNATURE SERIES
KWIKSET | DEADBOLT: ~ SIGNATURE SERIES (980)
KNOB:  F-SERIES (F51)
SCHLAGE | peADBOLT: ~ B-SERIES (B60)

FIBERGLASS SKIN—

TOPRAIL — 1} =

-\;\\.1.{\.\\11

(COMP.)

FOAM CORE — ||

/
-

INTERIOR W

1/

1.2

sseosccsosen

‘( .’o...i Z ;,.b'.'
Qz{f* TR ??fc;
T

f-_j’o. P

N, -

EXTERIOR

1.2"

BOTIOMRAL—[ 1. N

(COMP,)

m VERTICAL CROSS SECTION

\2/

Lj
o]
>3 )
"
Jo 14
£ lg [m]
s* B 2
N  O® (0]
& 20, 2
L .do
c L~ |
55 Eg2 3
B <22 o
c-r S tTtw Q9
> Jpg0 0
/|
2D >Sm 1
n- < M
Z0o0w o
% omMm ¥
a Own - §
] 238%2 u
4 300 o
[
g_ :‘o'o [a]
[ = S %
5 oo g
e XD
2
c
[
3 [=
<)
o

CERTIFICATE OF REGISTRATION # F—11852

o
SIS 3
24 <
on | xk

175} > ©aA
& A8
LY |3 &

[T) > Ly
S |9 =
om |2 o

- I

= 14

§ o

S kE

ol Pou

>
m
%)
z
o
n
4
=
<
a
o
=z

DATE: 8/18/22

scate:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
TX—5284

SHEET 2 oF 8

© z2ozz2 R.W. BUILDING CONSULTANTS INC.



Li
— ] l—0.4" 3.7" '\'\-\_\. \1\:_\\11 o R
" EXTERIOR 04" —— = Sowrint 38, B
v | e g iEd oy S8 B
| A Ei N 123 RN T
: = —1 : oo JYH Vi~ Do
2[R - ESS g 0k Conmr i ‘s\b‘iw 3 s2 £oa 32
— ( ) - — SRS 4 1Z i B <282 oo
q& + 9‘-‘“ " 20O 2 > H$0 nE
! n | | N 8?\/,4./ int 251 0ng
; \ I e 1 . 2gs b
INTERIOR | | NI o N
cappve)  STEE(VL LATCHSTILE (Lvi)  CAP (PVC) o Wi :; YL gf
1= = ot a (]
FOAM CORE — || g S4E o0
;o ®  Rok £k
/ 1"\ HORIZONTAL CROSS SECTION 1 s X 8g
=
& X L b
35.75" MAX. PANEL n, g g
WIDTH B
., 2LI3'MAX.
D.LO. WIDTH
. S %
[— — O
=0 =
own saj B
. xon |5l 32
/ ODL LITE FRAME = 5/8" GLASS BITE B3 (g &g
// x wl =
/ % [ 1"OA GLASSTHK. 28 |9 &
; {NTERIOR — INTERIOR YT EXTERIOR Bl |
ES 3 1/8" TEMPERED GLASS 4 2 "
o 1N , 3 L ARSPACE 2 <
-
5 & N, < N £ 1/8" ANNEALED GLASS o
¥ m 0.090" SAFLEX PVB INTERLAYER &
B o | 1/8" ANNEALED GLASS
= I in
£ o O o *
X % . ‘ EXTERIOR * STEEL SPACER (INTERCEPT)
= i
= Z © #7-19X2'PPHSMS  DOW 995 "
5 o o * NON-STRUCTURAL BACKBEDDING &
T 0 " 1 @M (READISEAL) 2
SEE DOOR LOCK /A
\ HARDWARE TABLE —
/D K
/ " . .
|7 ) #7-19 X 2" PPH SMS 1S ‘1 =
I Cy— (22 PLCS.) C-,Ta FIBERGLASS SKN—] - "
} N & 5
0.1" ——|2 — - & 5
— % = N 1) |
2 | #8 X 3" FH WS @ EACH CORNER T i SOTOM RALL— =
oy THROUGH STILE INTO RAIL (4 TOTAL ) { o : o 8,18/20
e Ju b scue N.T.S.
50) PLASTPRO SIDELITE PANEL B RW
ODL ALUMINUM LITE FRAME DETAIL CHK. BY:  RW
"Flat Frame" Profile /g\ VERTICAL CROSS SECTION cH. 81 __
FIBERGLASS SKIN: 0.075" MIN. THK. N TX—5284
FOAM CORE: POLYURETHANE A —

Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

© zozz2 R.W. BUILDING CONSULTANTS INC.




“ON| SLNVLINSNOJ 9aNIaing "Mm'so 2202 @

ZS8LL—4 # NOILVMLSIOFN 40 FLVOIAILNID SNOISIAZY
SHIANIONT VNOISS340dd 40
Qyvoda sSvxal SNOILYATTI Ad 41vd [ON ﬂ slolzl < 8_
LEL6°6G9°CL 'ON auoyd ,
S6SEE 14 OdMIPA 0€Z X08 ‘O'd \S\&. "ATEN3SSY ¥0 Ldvd W ol " m 5
*ONI ‘SINVLINSNOD ONIaling ﬂ = g | 4_
4000 SSY19¥38l4 o |&E5|e &
SZTLYOL# "3'd Svxal “ONI 04d1SY1d i M slyelZ 5
‘3'd PIWYDS 4 uopuk :Ag pedpde.id sjuswnooq :109Naoyd 2 S W M W M

/
4
q
@

/
J

/
4
1
\&/

6\
\_5
/

O
=
o

ELEVATION
OXXO

&>

q

X
va (5
/

Y
4
D

V4

N

1
\&/

[ 6
NG
J

ELEVATION
XX

/
p
D

Bmpp8zs-XL\sBuimelq - D\edwi Z19 18 DO 0-8 XXXX ¥a - IALNAL - S\LNINVIAYI du] ‘0idise|d\siual|D\Z



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

®

EXT. SHEATHING

- X G%\ ? —» -

. S S S S S

N

0.15" C-SINK

(TYP.)

INTERIOR

SEENOTE 1

/ DRYWALL

/4
\\

N

/"1 "\ HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

B W\

ANV WY

\\

N \
PV A
S11711171177

N
ONG!

EXTERIOR

50

/"2 HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

INTERIOR

A\

s

m HORIZONTAL CROSS SECTION

own (Inswing similar)

WOutswin sh
Back-to-Back Jambs

EXTERIOR

\\

EXTERIOR

A\

Y&

m HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

EXT.
SHEATHIr\E\

——

i /DRYWALL

W

INTERIOR

/"3 "\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

SEE NOTE 2

Om

EXT.
SHEATHII\E;\

S S S S

2

[E40
.*4652‘

R
L O .F Ll DT

1111

=0\
T

NOTES:

1. Spacing for item L: 6" from each end plus
5 more equally spaced along sidelite -

jamb (7 total).

2. Spacing foritem L @ head & sill: 6" from

ends (2 total).

>

/

EXTERIOR

INTERIOR

\\

/ 4\ VERTICAL CROSS SECTION

W Outswing shown (Inswing similar)

it

DRYWALL

(1]
a
33 N
Ex o B
-5*: n Zr
ok Sm® 8
o z N~ Gu
™ i =
y L 52 e S
5% 2 5 2
o z 09 2z
2W 02 5o
>‘|— TN ==
2 4 5@ 0k
2>m 08
Zow &b
5 OQ. £9
o o x2 t“‘
o [e]
P Zm, oY
2 3 : 5 o
° 50¢ EE
r oo S
m=
2 :
& %m
E 8
3 =
o]
fat
<
90’)
& =
S 5S
=0 S =
= 5
(V7)) 2 %]
£S5 g 2o
0o | EU)
Ix |o §9
.o < 5S
TCE
2 [T
S &
N &
>_
m
[72]
Z
o
%}
o
L
<
o
o
=z
DATE: 8/18/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX-5284

SHEET _5 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

\\

INTERIOR

A

=

EXTERIOR

2026

P ) WOOD
D ) CONCRETE

71"\ VERTICAL CROSS SECTION

w Inswing Sill

\\

INTERIOR

SEENOTE 1

7

EXTERIOR

AV

W \\\\\\\\\\ AW

=

/ 4"\ VERTICAL CROSS SECTION

w Inswing Sill

y/i
INTERIOR Y\ EXTERIOR
)2)
L =
P ) wooD
D ) CONCRETE

/"2 VERTICAL CROSS SECTION

w Outswing Sill

DO

\\

INTERIOR

SEENOTE 1

=

~N

EXTERIOR

P ) WOOD
D ) CONCRETE

/"5 \ VERTICAL CROSS SECTION

w Outswing Sill

NOTE:
1. Spacing for item L @ head & sill: 6" from
each end (2 total).

\\

oo “‘?‘“?“hl
~ e, e 13
ﬁl:'co-u o-: [} : &33
':‘?‘ Y’..‘..‘ g = o....
Ea AT
$=: Ardy
: i
qu I
0% g =
T i
E’?(‘/&"-. iai
QXS i Z Ly
2119‘ *:\:" ¢ v o
1R LV P, o
fieEiht el

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

WOOD/CONCRETE
SUBSTRATE (TYP.)

7P
24
D ) CONCRETE
/"3 VERTICAL CROSS SECTION

\U ADA Sill

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC.
FIBERGLASS DOOR
VERTICAL CROSS

PART OR ASSEMBLY:

PRODUCT:

SECTIONS

BY

NO. DATE

REVISIONS

DATE: 8/18/22

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
TX-5284

SHEET 6 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

s uj
== SNy, o R
. . o5 ,c"i* f‘. E . 6’,9:}111 J .ﬁ.g & £ oy
(3 (TTP_) e T =: 6 'é_,"‘*‘:....' § % g “'...4’{91( d E;'; % g @
2" (TYP.) ¢" 4" (TYP. 5 1y ¢ fa FIOSE FE SR X S P I
#11YP) mve) 1 e W R 02 > I O i T AR i N N R
— Aeh S HE= £ o T
| l | FIff1 1 | l L1 l SEEHINGE  |Bot ¥ iz IS \&iS Y 38 283 33
[ o — - = | | DETAIL 1 "?‘ff:". Q¢ R 2 l5—' 58 Dk
I ¥ I\ see 3 1 el Uplgmn i2 g-op {f
| _SEE sy DETAIL 1 -y U w33 1178 s 88% Eg
| DETALT o & | o5 Wi P R
— — = [~ — — - = 3 287 bu
HEAD & JAMBS || HEAD & JAMBS ” a 3 o g Qo
(TYP.) ] (TYP.) 2 Rok k
I ’ || & 35
B || = B - - 3 : = gt
I I J t &K
I ” O &
- n . - = I; -1 &E
I h $
= ” - = — I - —_ ? B SEE HINGE o o9
O =2
I (D) concree | DETALL 2 8 | EE
: WOOD : 3 s Sw
= SEE I G WOOD =1 2 E |- = H SEE — =l © E £3 |2 <2<§
DETAIL2 | 2% SLL{TYES DETAIL 2 2% // . 22 |3 wd
% I SILL (TYP.) —> % [ - = Eﬂj . 0. ég L
K " ¥ — MmNO T < 22
= Il - — — £ L
! \*ll\ml | L N N i | TL S8 ¢
Y T = 1 | | | ; __—: =
4 (TYP) —m] |=— 4 (TYP) ——| |=— : 13:’.5050 T 2 3
XX OXXO HINGE JAMB _—{g R -
fbacihs _— R n
FRAME ANCHORING 7) #8x 1" —1
« WOOD SCREWS
NOTE: THESE ANCHORS ARE REQUIRED FOR DESIGN PRESSURE > 40 PSF ONLY -
]
a
NOTE: FRAME CORNERS ATTACHED w/ ol n
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.) N L\ 39 . N(17) #8x 2" PH 5
2|z % SELF-DRILLING 7
@é:’=':-< radls Lo N 3O ™ TT
0 0%l T
\ \ | o= o, &
CONCRETE i W |
ASTRAGAL STRIKE PLATE i N % i
R =<\ wooo HINGE DETAIL 1 HINGE DETAIL 2 M (9) | 713 5
7 X o [ By O ‘
=Y — ; (12) Tl BEs g
P == “( \J = 3 N f. = L DATE: 8/18/22
® O c\‘ )
LATCH & DEADBOLT DETAILS . mmi 1 Soue  N.T.S.
DETAIL 1 DETAIL 2 DETAIL 2 %/8'@BOLTHOLE Astiagd S ® S o R
=i tilal B EELAT & . CHK. BY:
Astragal Strike Plate @ Head Astragal Strike Plate @ Sill  Astragal Bolt Hole @ Sil Endura  DLP DRAWING No.
Inswing Threshold Outswing Threshold ' CrDEW [ -
HARDWARE DETAILS ASTRAGAL SCREW LOCATIONS X—5284

SHEET _/ oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR XXXX 8-0 OPQ & GLZ Impact\C - Drawings\TX-5284.dwg

456" -
BILL OF MATERIALS !
EM # | DESCRIPTION MATERIAL ] S
A | 2XFRAMING (G >= 0.42) WOOD < O
C _ [1/4"MAX. SHIM SPACE - ~ R -
D |1/4" @ PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL ' PP A
G | 3/16" @ PFH TW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
J #10 X 2" PFH WOOD SCREW STEEL POLY FIBER JAMB
L | #10X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB) STEEL @
P | #10 PFH WOOD SCREW (1-1/2° MIN. EMB.) STEEL
1| POLY FIBER JAMB COMP
6 | DOOR SWEEP PVC
7 | WEATHERSTRIP FOAM f -
9 | #9 X 3/4" PFH WOOD SCREW STEEL =
11| 4 X 4 HINGE STEEL [ e
12| LATCH STRIKE PLATE STEEL ‘
13| DEADBOLT STRIKE PLATE STEEL 456" |
16 | #8 X 2-1/2"PFH WOOD SCREW STEEL INSWING THRESHOLD
20 | INSWING THRESHOLD ALUM/COMP 20 ) endiura (z-Series)
21 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 | OUTSWING THRESHOLD ALUM/COMP
23 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
24 | ADA THRESHOLD ALUM }
25 | OUTSWING THRESHOLD ALUM/WOOD o
26 | INSWING THRESHOLD ALUM/WOOD N
27 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD
33 | ASTRAGAL (DLP OR ENDURA) ALUM 1 458
40 | DOOR PANEL - | '
50 SIDELITE PANEL - 22 OUTSWING THRESHOLD
Endura (Z-Series)
in
' 456" S
' 456" _{ ’
‘w ? —
DLP 25 OUISWING THRESHOLD
CONCRETE ANCHOR NOTES: DLP

. Concrete anchor locations at the corners may be adjusted to maintain the min.

—_—

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

138 3 112"
TAPCON® 1.3/4" 2" 4||
ELCO n " "
ULTRACON® 1-3/4 1 4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

=—1.75"

2.88"

ASTRAGAL
DLP

)

«_%

5/16" @ SLIDE BOLT
5/16" @ SLIDE BOLT

) (9-1/2" LONG w/
(2'THROW @ o~ 1-1/4"' THROW @
EACH END) EACH END)
NYLON BOLT
CONCEALED L S RETAINER
STIFFENER

33 ENDURA ASTRAGAL
Ultimate Hurricane

| MAX. DESIGN PRESSURE = 45 PSF

n SZ
* i E RS

21" i

‘I'l'\ AanAn

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

SIDELITE

. ADAPTER

4.56" .

21 INSWING THRESHOLD w/ SIDELITE ADAPTER

Endura (Z-Series)

SIDELITE
ADAPTER

L 1.5" ——

PRODUCT:

@)

1.23"

4.56"

3 OUTSWING THRESHOLD w/ SIDELITE ADAPTER

Endura (Z-Series)

4.57"

|

U =
INSWING THRESHOLD

26 DLP

i 2.2 ‘
1=

L
innm=——=——

| 457 |

27 INSWING THRESHOLD w/ SIDELITE ADAPTER

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

PLASTPRO INC.
FIBERGLASS DOOR
BILL OF MATERIALS

PART OR ASSEMBLY:

& COMPONENTS

NO.) DATE

REVISIONS

DATE: 8/18/22

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DLP

DRAWING NO.:
TX—-5284

SHEET 8 oF 8

© 2022 R.W. BUILDING CONSULTANTS INC.



